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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Fierce winds and deadly waves were only one
Columbus confronted when sailing to unknown lands.

----- many explorers like Christopher

|) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------------ - to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —=—eeeeeeeeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—eeeeeee- ---- ¢ffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeveeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would -------ve——-- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—----—- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—---—-- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —----eeeeeee- -- atmosphere at home for studies perform better than

students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail —--——--m-- --to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—=—=m=em=—- 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----==-s--=—--= to the oneness of art and life.
(14) -----==---—----_ actions and performances on streets and public squares, followed by
her "living environments” and the "windows". (15) ~===emmemm- --— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems), leaves. and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks.
seeds. bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content., soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called




F axio 109F (5 55) 559l bigel 9 o9y (330!

16-

17-

18-

19-

20-

immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeuev >

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——---——-eeeeev A

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, —=---eseeeeeee,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that e,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest t0 —=--emcmeeeaee,
1) ‘root’ 2) *branch’ 3) ‘straw’ 4) ‘trunk’
PASSAGE 2:

An epicormic shoot is a shoot growing from an epicormic bud. which lies underneath
the bark of a trunk, stem. or branch of a plant. Epicormic buds lie dormant beneath the
bark. their growth suppressed by hormones from active shoots higher up the plant.
Under certain conditions, they develop into active shoots, such as when damage occurs
to higher parts of the plant. or light levels are increased following removal of nearby
plants. Epicormic buds and shoots occur in many woody species, but are absent from
many others, such as most conifers. Human horticultural practices that exploit
epicormic growth rely on plants that have epicormic budding capabilities for
regenerative function in response to crown damage, such as through wind or fire.
Epicormic shoots are the means by which trees regrow afiter coppicing or
pollarding, where the tree's trunk or branches are cut back on a regular cycle. Pruning
leads to growth of suppressed shoots below the cut — these may be from epicormic
buds, but they may also be other growth, such as normal buds or small shoots which
are only partly suppressed. As one of their responses to frequent bushfires which
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22-

23-

24-

25-

would destroy most other plants. many Eucalypt trees found widely throughout
Australia have extensive epicormic buds which sprout following a fire. allowing the
vegetative regeneration of branches from their trunks. These epicormic buds are highly
protected, set deeper beneath the thick bark than in other tree species, allowing both
the buds and vascular cambium to be insulated from the intense heat. Jarrah trees,
found in the south-west of Western Australia, have epicormic buds which are activated
after extreme conditions.

It is stated in the passage that —--——--—eeeeunv x

1) the suppressed shoots below a cut do not grow well

2) conifers do not generally have any epicormic buds

3) a tree's branches are regularly cut back in pruning

4) crown damage has a major regenerative function

According to the passage, -----sseeeeeee .

1) Jarrah tree epicormic buds get active only after extreme conditions
2) epicormic buds are set above the thick bark in several tree species

3) shoots that grow from a dormant bud lie above the bark of a trunk

4) buds and shoots are often partly suppressed for later regeneration
The passage points to the fact that -——-eeececeeeee,

1) Eucalypt trees can regrow after a fire through their epicormic buds
2) epicormic buds suppress the growth of hormones higher up the plant
3) epicormic shoots occur mostly in perennial woody species of Australia
4) a fire speed up the vegetative regeneration of branches from their trunks
The passage mentions that ——--—eeeeeeee,

1) trees in south-west of Western Australia have epicormic buds

2) removal of nearby plants lets more light fall on existing trees

3) pollarding is usually done after a major event such a bush fire

4) without epicormic shoots trees will not regrow after coppicing

The word *exploit’ in the passage (underlined) is closest to ~——--—eceeeeev,
1) *set’ 2) *lie’ 3) “use’ 4) ‘let’

PASSAGE 3:

Lavering has evolved as a common means of vegetative propagation of numerous
species in natural environments. Layvering is also utilized by horticulturists to
propagate desirable plants. Natural layering typically occurs when a branch touches
the ground, whereupon it produces adventitious roots. At a later stage the connection
with the parent plant is severed and a new plant is produced as a result. As layering
does not involve sexual reproduction, new plants are effectively clones of the original
plant and will exhibit the same characteristics. This includes flower, fruit and foliage.
Plant selection usually involves plants with a flexible stem. Simple layering can be
more attractive when managing a cascading or spreading plant. These plants tend to
propagate in this manner anyway, and potting a new limb will give extra plants
without having to sow new seed. Simple layering can also help when a plant has
overgrown its pot and is drooping over the side. The long stem is layered into another
pot until it roots, thus bringing it back to soil level. Ground layering or mound layering
is the typical propagation technique for clonal apple rootstocks, in which the original
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plants are set in the ground with the stem nearly horizontal, which forces side buds to
grow upward. After these are started, the original stem is buried up to some distance
from the tip. At the end of the growing season, the side branches will have rooted. and
can be separated while the plant is dormant. Some of these will be used
for grafting rootstocks, and some can be reused in the nursery for the next growing
season's crop. Ground layering is used in the formation of visible surface roots, known
as "nebari". on bonsai trees.

According to the passage, --—----==-eeuv,

1) in layering the new and the original plant are exactly similar

2) simple layering causes the plant to overgrow its pot and droop
3) side buds of the original stem should be buried to grow upward
4) long stems are layered vertically into another pot until they root
The passage mentions that ——---eeeeeeeeee,

1) adventitious roots form above ground

2) bonsai trees have visible surface roots

3) layering rarely involves sexual reproduction

4) dormant and active stems root at the same speed

The passage mentions that —-
1) spreading plants includes several species of flower, fruit and foliage

2) grafting rootstocks can be reused for the next growing season's crop

3) it is unnecessary to sow new seed for propagating cascading plants

4) apple rootstocks are sometimes propagated through ground layering
The word ‘these’ in the passage (underlined) refers to -———-—eeeeeee,

1) *dormant plants’ 2) “rootstocks’

3) original plants’ 4) *side branches’

The word ‘sever’ in the passage (underlined) is closest t0 —-=-e-eeeeeueee,

1) “stop’ 2) “slow’ 3) “cut’ 4) *block’

SIS Fo g Syl

fCuwl 390 plaS Liie PRA  —Y)
isel )l oty (Y (2biovy) (55 )l e, ()
gy Slbls )| bt ) (F gy gl ) (7
ol yiddypo b g o so oF bl )yl dce il plas -YY
Shan dls) s 2y slaalla anny Sila) ()
AR g Sl 5 gy (5 e Siba, (V
=) slaplls anny Cils) ¢ 5 Lo Sila, (Y
=) slaplls g Cala g 4 is e ils, (F
CABl ro2 Slowanal W13 50 (Z970) sk ygele 350 (P SULS (padd (o 04 Wilgi 50 3590 plaS YT
Al - Sy (Y S0y - &SN
‘5,5’3&]-ou.>;.,,=,)~‘.. (¥ BLBICAsL g pdee ~ S y2xa (T



Y axio 109F (1¥+5 u5) (5,9LeS g0l 9 g5 y9ejl

3,10 a3y loaol p Codlo b g piin Connlin (2Ll l g9 plas -TF
5 )l o8I (Y s sl ()
N1 Bas e 55 (F ail) B a9 (¥
i Cawryd Ol 2 ag S 5 ol 2093 8,L)0 (Shgplas YO
ls 3lai ax LS5 glapllas a4 miy lpdasS aed Gladysg; ()
e 13503 0 ] pAalS At (5T IS g yum; 508 5l Gl d g (Y
S o oaliiud Gl p s Gl 50 patd gl UK I ol dusg; (T
AT 1093 5 ol pRasS dcens slaia! glaclad (o g i &S L 5l ) pduag; (F
(PRA) (&5 L (pliwy) (2 5)! 3 (RRA) (pliwg) &y (2L (95 99 0o GG 3190 2 32 (Fhg plas -YF

05,000 )lodbey
Sl Sl (53,5 oS (¥ sal3 5 @y 5253k O
U s eSS paa (F Sledsl Jols o0 Sacg (¥
Cogub g0 @M 09,5 plus & (Deliberate) iowilyss FMaol 559095 aulyd )0 1pdy sbog & suiupmmdi 0 -TY
S Gl (Y Shals O
e pllss by 28 (F i gl (¥
ol 5509 AT 30 oraz g 598 Wl )l iy yai 30 ool Coglis oy yliiammo i 51 ~FA
ol olajen <l (¥ ol 255 ()
pla JBS! S s (F plu SFasCal o (Y

] o jol HLAG! (glad> e 90 (59801 5,150 3 50 plas T4

ls e I3 Gliasy AE 5 paie ) grex bLII Do 28 ()

35 o s BT Loy ¢ )8 ey i 90 @ ) (pdolone (F

3l sai pby) (5 )8le e cilies Ilpe po 1, (bl by (2 (F

i Sledbl il s o 0 Jlad O jgeds by oni S sog g Sl sy &5 Sl adies (F
3950 by y0 ol )| pai plS & bl ilge b Wujlly  ~Fe

plag 0 3 (V pla lgres ()

Pl g9l polie dan (¥ ply oS (¥
3,10 ougs 1) HIGN 5300 g 0091 |5 ooyl 09 plas - F)

Wy etz (¥ Rdyog; Su ST

ohslss (F RIS S 2ST(Y

fcawl RRA U PRA ol 55 9 5005 paad o 04 3390 plas”  —FY
ol 6 g it o gy 8 RRA 5 ()
il g e 4 Gaio 5 Bjgel anld Jlad polic 03,0 PRA s (Y
29 n (§ et 25T gl izl g oy g ool ulis p PRA o (¥
Db o8 bl IS ariand 5 20 oS Lblbu o bl » RRA s (F
€510 (2l 2 petins aluly 390 IS (5 paF0L 0 5501 -FY
saS'Cu g (F o agiea (Y bl (Y 3 ()



A dvio 109F (1¥5 a5) (5,0l o590l 9 o9y (3903

€351 (g yidions Coned! Jol 3 p1AS 30 o ity ol 3 e BLI )| S JUL (55185 pmtual 4l 50

oot = ek 5 (¥ s = 310 ()
oild - 5 (F i = il (Y
T o0 s ki €93 1A 1 B5981 3 (555900 ks 50 (S S5 319 (P rre sl SIS ules el
el G5 s (¥ SIS yeis (V
sadiulas slaal o (F il ST s (P
fadbioe loygans slabiwy) mhaw )0 (ogas mgy (2121 G9ik polo Jbo 50 13590 plas
sy (Pl slacS I (Y SBU ledzgs ()
lojgliwe 5 (28 glacs o (F 595 Slaas 5515 (¥
g0 digfa bLI )Ll oF 5)3L85 g 950 G BLII 55180 50 §)leS g Zg e I e o)l e S
0,8 s
)5 wals &g fige jeloas b3l (Y Sdy walgs (o 51 U 216 OO
L8 dalys Oy S g ke LLS (Y 5y n Ojpe Skl ply Sl (7
ol €Sy L pls gy po bLI )| (5518 2 Jaw plas ol ol Jai 5

M’ M’ M’ M’
— = (f — >\ (¥ —=o (Y ==Y ()

M M M M
€)1 3529 (98l 3 Bado gy SLailie pogdle ailie pluS ((g5)alis OLeMb! 5 (il plli 5o
=loa (F Sleas (Y aloles (Y embex> ()
Cm! il 1S wbgs ya (559195 (5LB G 3aten & 100
g (F oLy, (7 29 (¥ 32 O
flml paie plaS 30 ol p Joo b ySeadd 9 )21, (Bl Joe Lol Oglai
JUb g9 (F ply (slgos (F 3,955k (¥ A0
03,135 o0 (5 5250L Wig) 1 5505l 42 1395Us ls> 3l plsi ooliius!
Syl es yitan (5,50l Sty (Y Dedge i 6 pSol S ()
D9 o0yt (5 53k Ges (F Dbt i 553k e (T

S o Sy e |y CBLb ) poie 390 plus

el Jos cilisee glBSiow (1

ol g pllai los g aiidd s« Joe 0l (Y

ol ol ssina LS sl 5l S0 g plla G s Jes S (T

Lijel oo 53 Ll 1) ol o alogas lacdgs &5 cuul gllas 7 )b (F
! Gblc plas (gl ol (3,5, Wi (55,9l qu gy pllai

o G 255 Lo aRunsas S gabolie ()

W) dgams molie g odazy olaisl a5 ablis (V

WALl 0da2ey g Egite (SSLdpg Hl 5l a5 iblie g ladases (F

ol a3l Sl o Lol W)l Jamatams ; £33 a5 gablis (F

-¥f¥

-fo

-fr

-¥Fy

~FA

¥4

~d

-8

-&Y

Al

-a¥



& aoikio 109F (1F5 a5) (559l Jhigel 9 o9y (y30)]

fis oo ool )8 29y aelip U 3o 1) (70l i Fse 9 ye ! oF Sl (JUG ds oo 500 3 550 o0 -0
53k Sl (F gl slad (7 igal Jebos (¥ igel b, O

i3S Sojgel Jso!

€0 )15 (5 yiions Sl 38 (s 5 3 105 1S A lg3 g Lo jael b 1l ) (6559l (Sjgel (qmyd asliy Jlsle 07

weleaxr! g5l (F @l S (7 S eeale (F skl O
il oo ST W98 (5 pe5 0L WAL b (b3l g (o g By 50 -BY

a5y ol 5l (g u83L (¥ saalia ol 5l 55a53k ()

Jos 5 S8l 5l g 5L (F Tl 5 G oy 5l g S0l (7

Gl ()95 9 39el pme 3590 pla -BA

el 8 ks Jod (53,5 oy g (Alas S g5 5 SHjsel Sa ()

ol S 5550 5 s ol S g 0 Sl sl B s g Rgeel (F

] G 5505 (slaolanin] (BeS g a) jelines; satane 5 phite suld fy5p g Hjgel (F

ozl 5 ol slac s B ) 5 dloul g s 5 plate wdpe lacdled bl S S5 5 Bisel (F

e 13

fiomal (o j9al (5581950 B pme 3500 plas’ 04

ol (jgel By 35 5 (2l (F ol 55253k 5 Bjgel sl 2k O

ol 570l (A0l iy (et 9,509, (F ol (Sgal Loy 5l eslinn] (ot 0l (T
330 S99 patde 33 (cuwlal Joi g peadl (630 137+ Jlu p0 U il sl i g puls )3 Sy plas -5

o9 ol
S8 (lipls; Heeb (V ot 9355 o ()
S B ly) jeeb (F ksl ol ks ol (7
ol g0l 50 1138l g 113800 35 Cans 30 8 )15 g 213k U e 3590 plas )
el 38l (¥ Fisel $59955 ()
8, (535095 (F R
?Q,ﬁ‘ﬂ"ﬁ e 60‘}&“ .H)A; I~ salaswl Sj90 &,) p'.&: -#Y
(Participatory Learning) =5 e 5,50 (Y (Microteaching) otslejl w05 ()
(Brainstorming) & &)L L aduwl oligh (F (Mentoring) ,lSagS bawg j5jsel (¥

teul (Tutorial) cogas (bieel U(Modular) Sleog bieel walis Sily 3 90 plas -#Y
g g rgeme 25,5 slaSsel s3> 50 8 posas g Flesg jsel ()
ol 5oyl sl Sjgel i copar Sigal (s (B35 sl bisel siz Slesgy Njeel (F
el golal slasjsel s sogas Ajsel Jy (Rl sl bigel 232 Gladgy Hjgel (F
oaiad JES! plas o cogas Bigel jo Jy ol ] 5 Al oS Jlisay oui ol Sleses Bjeel o (F
ol 085,500 a4y BB 4 LSl



ranihan 109F (1¥5 a5) (5,0l o590l 9 o9y (3903

foww! (u.&),ai OU)U

OB el OS5 jlie e (V 1! ey Saw ()

0ALS Sy 09,5 g (abloes) oigrd 05,5 3924 (¥ 2! esls gogl (¥
T o0 39254 Gl )5 (51 4 ol (pols CMSLe g Jiluse Jo jpliions ijael plas —£O

(In-service Training) cwas yas bjsal (Y (on-the-job Training) |5 > %8¢l ()

(orientation Training) _.>g %jsel (F (up-to-date Training) Jlu,;s,a 5jsel (7

€09 50 D gmmitn Jlsly o jlaume § (553l b jgel (gLdduld ¢ 32 3 90 plas -5
dnal> olazal g golacdl 0l 4l ()
Mol g asam it claces b sloul ansas (¥
(VLS )3 5 0Uls2) ana gl (Bjse] (s5lunald (T
AL e 55 plgamils iy g Codige &) e, (F
fml (559U P390] S04 35 s 1A J9a — (5 0L Sl paF i j0 PV

iz Sl U8 (Y 0Tk g Sdjgel alss ()

igel leme JUail g oaailejla (F o a5 9 90 (1S (65 Sy (T
sl P (55,5l pole (o )0 pagde 8)b)0 3 90 plaS -FA

2isel 350 5 GRS jse) o5 L (Y GBS0l 4 pale DL Ll ()

S50k 3,50 gdse (F S50k slp canlin sacis B (0,5 @al 3 (Y

fadil g (55,9l (P90l 35 0 pe ol Cadgins 3550 a5 (180 g0l (o)l oz slaayg, o -F4
Aipel 38las oS o)l ol Dglad (Y S350el 5 51 s el Ol 5 e calis ()
Ol )l5an b Sljgel 5 Shos oy polas (F Ajgal ,8kas o)l )0 SleMbl das (55105 (7
Ol i 30 SN Fob (30,5 olaial glp o ohjgal Mgy plas Ve
alunil oligh (F wode o3l (Y o sl (Y oyt (\
] pimmilin (1 lhae (5 0l gLoadlad (gl o030 U ul)] S plas VY

oyt 43 042 (F S Y (F ol (¥ @ty ()
fand o Gl 1 oAl )& o9y 4 (5050l Jolyo Cami )3 adi ) 390 plaS VY
Sz - Smm o - AT (Y Siga - Lo (AT A5l ()
g = Sl - S 2T (F e = AL Sl o Cou (Y
Sln 1) s i oIS patune (g pafoly Wl 55 LT 51 (silwpsaie 3 @by (13,5 @y il Jluogas VY
RCL N P
S5k (F o (¥ S (Y shos ()
S 0 25l 1 3590 185 €118 Canslgsr Ly 5ol —VF
&5k el (F SS9k L (Y S50k Joazma (V &5k g, ()

Cadl 510595 3 b Sl £ o3 plaS 31 iiS oo O pib (o jg0l) (5 S0l (glacuo )8 40 aF jyalis 0,8 -VO
&5k @ les (F SOl 5 o (7 @ Sk (Y Sl ) 2 ()



Y anihio 109F (1F5 a5) (559l Jhigel 9 o9y (y30)]

03,00 waST 1 (g a0l wiald (b €5 jlucugh? 5ok £giplas -VF

ST (F s w2 (Y S0
g Wl o Camdts bjael loal AT paads 5l 45 Wit 5 S1HLE e sigel (s aeliy j0 -VY
WWigd oo Jroad asie gladas @ el
o 2o Las (Y 5 sladsas ()
asliy slacs oyl (F syl sl (¥
FRigid oo yaat (wlil #1050 g0l Suuids § Do oUgs Glual . coms)y g0l jo -YA
g8 sl g o, (Y 31l e, slasls O
ansl> Shlasil s (Soplex (F S 5k0 )50 slass L (T
il (2l 90 plaS @ gy po slacudlad aloa 5l €ouds ploil bbby culae g (puwlone (g v VA
aails (F (i (¥ so2e% (Y sl O
Ol Loy i 33 396! dhandd (gli2 (Glo T3 51 0590 plas A
> a5 (V 2= sty ()
Abjsal fawgi 55250k Joges (F Slawo o (35 g, (7
oYlaSyp Sjgel

fmwl Cawyol 90 plas —A)
] ! il 5L (5,500 ()
i jglen 0l wmo | 955 i @y slosl JLS 5 0),S18 (Y
Andl adls o5 s 5,80k il s 0 aF Wl Ll JLS )5 1818 (7
At gy ol il S tal iz catal (g5 0oly 3Red il a5 €F
105 B yme (VLS 3 (30l bl Bua | Al o p1aS g gl jo slajli gubsaibs oy 30 —AY

Blai g Coma 4 5L (F oz slajli (7 ot g (¥ Contal 4y 5L ()
00,10 g 4z VLS )3 Big0l 53 (5L 395 & Carmd lllan (g aF3b & Jao -AY

), (F S (F S (Y a8 ()
Tl 920 3,55 (531, by, plaS —AF

S (Y ol 15 ()

al) SaSey (500 (F &kl 53 5,50k (F

Tl o j3 Jlaa 5 39 31,31 g1y 90l SloAol y 51yl 10 )90l KaS g0 g lgazme LLRD! 10 (3590 plus —AD
5,5 salanal al oty g 3 il G.:,;,»LS‘S lgs g laioes 31 ()
S ool 318 0 swan LS g AIl e mes b a0l KaS Slge adl Syax lgixe (¥
g Sl JLaS 5 o3 (Kim b g solatsl i olonl Sloogas laly aily (BjpalSaS g g fgooma (F
39 A8l lowe 5l 42 sl ) 45y osgs sl by J8 50 331 1 (259l Sl lyiome A 3 (F
RO 53 PC 00 [ iy wb p ey g sl el o ol giaeldlaw j0 -AF
$RoiS g o (F sol,il ieel (Y ssalis (Y J7a las ()



WY aonio 109F (5 55) 559l bigel 9 o9y (330!

RO FOURBIEN || WK S PR 101 - S PR RS T P A KL 4

ol JUaS 31 585y e K528 s 215 ()

Al o alS LS 5 00 5 F0k O)a8 g S e (bl (Y

ol i JLS 5 58 60k bled (Jy ol Gls 058 ogate 6 TL OB (T

Mo U JLE 50 55 (53:F0k o g Sl i Ll 53 (5505L D8 g b o (F

il 03,5 IS alau 4SS 30 WS ol 3 a5 k325 il 39 1 95 i 3 g3 bl s (59,9 91

Sl Do slad > gloa (Y 3% 2l s ooen O
s aslby plowil sl (69,8 ol olulid (F &35 e Ly 185 sl 09> Ol alulid (Y
Sl plas’ LSy 32 (5l oo (0 B lae

elezz] s (¥ sloj o ()

shble - Jlyy o (F sty = 9y o= (7

€ ol 42N (5 yidiens e YL 3 3 s (o 59T Amangh 53 (ki 23l plas

Ogln dags (F o ol (¥ Hg psSlle (¥ il O
FALS o0 s 0 9590 p10T 8,150 dglad yo (VLS ) 3 Cdgdan (Lo o 5l (ogd (Gubbipumnndi 50
393 (ke Jas (¥ 39> a2 ()

231428 )5 ol dusje 43 245 4zl (F 395 5 50,5 s (T
T09i 0 0ubline Fadady 3 90 plas jI SLAI g5 slolEwyo jo

OlpS18 S jad (Y OBss &jpas (A

e g el o SOl (F 257 4,25 (5 53 (7

o & %03 ool 39 bass 39 ol (VLS 31 (Siael (sl ol sler DVA Jlo 33 3o paSilo 4yl 4 a9
TS g ouls o820 1AYA Jlw 43 Juol pluS 13,5 adls!

S0l Sf aa p 810 @ 20 (V il 44 305 ()

(laa i) 6 ,253L sl 5 5o (F (2,393) 395 5l ;51,8 udls (¥

0 7 ko LU bawgi &5 (VLS 30 )93 3 el Sl 550k 9 ey 9l soRl (152 51 390 plas
?é,&! i.l 2 G o |

Olejlo g ba g, (F Siyaeliy (¥ @bl Eyoge ()

13,18 (5 yden cul 8 lhico Lo plas sliiel 4 5 O jlae

Wb ol S i g el 9 o0 yie (S 9 ) 4y gl g el (Lsl Ol (555 s s vy 2
“ash @ g s

Fps o (¢ k! ol (7 22k (¥ Ay psile (0

failldigy Jos ancla gl Jool 4 (g3b) o U diundlyi (g5 Cdlaa) plas

b s sy (F AL gy (7 @118 sy (¥ T&V @35 0
Foawl 390 ploS je2e 5,9LiS — jemme LW g 37 Bl 0 5lhwd [ nie
P! le pw angs (V ik axwes ()

-AY

~AA

A%

A

-4y

-4y

-4y

-q¥

-4

-4

-3y



WY amiio 109F (1F5 a5) (559l Jhigel 9 o9y (y30)]

foawl 390 plUS (55,9LiS Zu gy 039> y0 Jad (CSO) Juw amsls slaylojlw iand oo ypte -9A

loclad g5 (¥ 439 3gsaS ()

rtte s o s F i o pa (F
CISU Y TP SO 30 VLN | O 0 YO o

a5 ()

2T 2atel (v

VLS )5 solazsl o U.;L..;?l anwes (¥

ls g 355 Coptbpa 5 (itug 50,5 3,8 a6 pFol Sl (F
& iy @i gl e g e lie § 35354 9 e slireds (VLS )3 (Sigel Jgol 50 Jol plas e

sl YLy 3 90l Glaal

SSealea (F Sl | (F S5 ke (Y stbios )
Cammd Yl 33 900 IR (3 it 3 3590 plas —1e)

alydl bisael al) (A

dnsl> wlgs plgs S (Y

anel> GCwas gl ol 3l ;;L.i (Y

o9 iylliy g i dscarns ol g ale Ll (55,00 5y g ey (F
il Yl 5 32 g0l 33 € P15 (WSS LSl g (ke jlur Jgwol 513590 plas’ )Y

NS Sl 43 55 03 S Tas (Y Sytelip ;0 35 o3 pae SSTas> ()

loacly s1,21 )5 35,05 pas ASTas (F Spytelip g 83l fas (¥
] s )36 (55551 9 (55551 )uiT SLaglas 80 3590 plas’ )oY

ol 7o (305N )3 (69,8 Culs) (glad i ()

ol (950 saGse (555510 53 S (Y

il S8 S30TLT 53 2B el AN 3, Jlazard il (¥

ol (559510 sla s ) (jsel sl g Sols o ilate s (F
fnl 35l g2 YTy 3 B390T 33 3590 IS 1 (oot 3 3 )0 VLS )33 Jlgil -1-F

L g oLt (F 5ol ey (7 hizel sl (¥ el 4y olaze! ()
s J9 4l e UG j1 090 plas’ 100

318 oS s A .6,:fol£ anld o eles (

ol B3 005, 500 jo BLESSTL 2suod) (6,800 (Y

] )|;\5,_.‘.i: Sl JULE 550 005,500 g ouzasoly Jelas slaogd (Y

2yS (g0 O g0 delis (Jlazme )3 (5,:50L slactlad o)l g (il 05 (F

gl Sojsal 3 gug i 40 S pre

ks ol polic pIaS wio )l casd ity «padtanss Syt 3 gy U5 )] 9 Bk sl g lojlur poled —1+#
SIS (5590 pi eSS (T 8290 2 PRl Wik S ()



IF axio 109F (5 55) 559l bigel 9 o9y (330!

Fil] (S prie a0 plaS ¢ 3 wda )0 S Cu puer (gl el Sl

(ol (F ez (7 oy (¥ 40

U o0 oy g0 el 105 )3 gl ko (5L il o aaaddas 13900 53 (0 5a8l (245 4> 5o

Syt g pl il (F sl g oo (v (s2lg5b3g3 (¥ i 23e ()
T gult o (riadi § (339 (0 ko dlbaio pluS 50 lojli S slacinlow § oduolas

(S = (g o (F o = Slolas (¥ ko - 2l (F ol ()l ()
sl IS 3 g Ly 500 1 ylo il BIad] a ol (sl 1y T JéLius § LSS &5 gyl b
el S50 el (F el (7 230kl (F J~=5 0

9 A oo ST o 90] Meolio g Blanl g jluipigy p o s S IS | D390l (53 yaeli p Sl yd 50
Tl By yre 2wl Alais 598! lgic ey

55 (F S8 (Y 22Ty (¥ el ()

Clwl paii g )l pundi' d0jY 5590 plas

ol sananls (F S g (Y Py pas (Y JAs 0
laml Hlginl 390 plaS ulanl ) johd Cu o0

(ST b Pl 4 i )5 (Y T P il s il ()

(R s 55 o g2l (F 3 o Paile] s i )5 (F

Sl b (65508 gy lojlw Bk 5l &S gansed (p Pt (o0 s Bl p T el Jb kulhd o
Sl PL}S é),i JA& 4 3,9' ,_,L.bbu

SlislaS 4 (g ysldn; (Sjgel (¥ oldl Ol i b e 13, ()

ez b & 298 sl Ol e gjlueslal (F J37e 3,0 P Swaslp Cods S5 > (T
fWigd o gl Wl (o pae SOG )la pIAS w4 plejls (IS 9 3,5 Zalaw 53 (Jaaxs OVl Al 5 y0 gl
Syl 3 (F bl = STyal (F bl - 28 (Y = Sl ()

T g a5y ol a5 Al 3o (gl lgiss 1390 plas

lie Julod g 4520 (¥ s iy ya5 ()

A 0500 Candg b dad Consg aliae (F wilia glado ol 105 oy (7

RN [P PUZS [PUIROUIE SIS TN 10N [— Gl 30 00,10 09,5 50 0,8 U &5 anige

& 548 (F Sl plis (¥ S ()

3 gm0 L S (g yitens 05T ol 3590 IS 2 (6550l gy (lojlu o> Axala p oS> i byl yo
€355 )18 amsl> p iy

ol 590 0 Sl (Y pyae (slp Sloss (sl ()

dnal (gl e S9e g (F S o g dnal> Culs, (F

faS ooliawl b (g, aIaS 51039 J 58 sy o pae

Sl g J 25 (F S e a8 (T g aSel (Y S J~5 0

SV g ol sleed) j0 (panadi g (8 Sloghao (v oo sla 2 Ul gl 3,50 )0 Jpuld oBs glw
Yol plas Cawyo s ‘s.olo)lua il o alds

it paS (F Pt i (¥ 55 i Y 7S = e ()

-\

-V+A

_‘0‘

-

-M

-1Y

-1y

-1\¥

-1o

-\\#

-y

-A

-

-AY-



18 Ao 109F (5 55) 559l bigel 9 o9y (330!

§ “.ol:a 0'240 Glbg £ D90 plas ‘63”“‘5 =9y ualn,lu el o -

Blisee sloog,S @il 5 g jluSialon (F by Ghlaws 5 olrg e (Fp o (7
?»Q"a d')' o}_a_, ‘slm....a.i,a » G,JM o,a.i a)lg)b ') du‘r:-oh?' (SR a{)hl. P‘J’ -\YY
Bad _ e 4,35 (¥ ebazd! @ k5 ()
|Foatipe (5 mn) @ ki (F s g an ke (Y
o9 (g0 atd 5 )l by plowl (caiylej gl vs 32 y8ebip S 2 9eal by plas 1YY
SOl5 Jloges (F Lasrybl loges (Y Jolai a3 (Y sl ()
Sl o jgal (g0 40l p 3l Bad 3590 plas —\YTF
S 5b calin slacis b sbou! (Y Sel,l8 sael pllai SO 1Eul ()
S50k - 233k slaclad 53,40k p (F odi Sl L3, 10 Gallas Ol puus oloy! (Y
510 ST anls plas 59 oo )yl ot 31 Eans 30 ol licslo -1
gl - (5 oS pranci (F Ogo3) - gl (1 (5 pSpaani - )0 (F il = osal O
Sl (532 0l £ 9 pIT Sluogaas 1 C 3 U g oild ddyi Jgame SO ) 150 g3, 35 a8 -IYF
S5l (F Gz (7 S5 (Y <=l 0
o i 3 Lkl o g Ll 58 4 2 lad 13039 S (95 | (90l dolip Sy el o AT
ol plas
e @2l - Fey0 2L (F S 2 - P90 Sl ()
9° 2 - G 215 (F St el (gyS (S (T
foml 21yl daul ol b aoli p ldail o] b g 998 oo plonil acli p ()21 Al o 30 2wl £ plas —1TA
sduS masnas (¥ oansS LSS (Y oaiS ay yuas (Y ads ()

foaw! plaS g yaol p 50 i ili sllul> -1YA
)18 3,15 (g0 yaal e J>pe pled y3 ()
D9 a8 S g ymebp p3 (2Ll 5 S (Y
o g3yl Slaal ogai BlAL ¢ puyal jshated pasid oLl e (F
€3 yuF 50 51,8 ol 9550 SleMb! ‘_;”prl)i g a0l p slpal > o j0 wilo go plas 1Y

oA 7y pai | il (Y EVE S SO N
o.\;;Sc,a.ni ‘57«....)[‘_.; (F 0 A5 oSS 62.._')[,.: (v
by ok 5 553l drwyi

Faml 0093 Arwigi Jl> 30 lb 9l 10 (55,9LiS ulgs halydl Lics (anddS amd wis yo Jule plas —\Y)

Sl 55 (F 5 es (¥ o) (Y <l O
Oasl Slgg IS 5 1 5 by 38 (53U )0 (51 )2 ! Caalgianns (yuilo Jlo 50 ~ATY
b g lais (Y b, bas (

@)L»' Ml s oL (F s, &)L-J slalyed (¥



VP ankio 109F (1¥5 a5) (5,0l o590l 9 o9y (3903

§ (o (51519 0,5 i slold slac ¢ o woaislad plas —IYY

2955 S y59 eales (V Byl suzyles ()
Ly, ool (gljad sunylas (f Ml ol als suslas (Y
fCwl 0092 990 plas adly o 5 ;Lo —Y'F
& lvasle s pllas (Y 2y Sl ()
Gpdededs (g3l (F wtlems) 3gi agad (¥
99,00 o (55,5l drwgd (5ld Jue ¢ 32 13590 plas ~1TD
cbli> Jos (¥ 243 Jow ()
033k s 5lis Jas (F &b 3 )l pe e Jos (¥
39 (53331 nasgi oo 1AS 33 CulS (598Ul 1 e b S s 3 0 il akiold il 8,0 )0 € pigi g oyl TS
3,8 o0 )\ P a2y
Cualgn g s dnsgs Jae (V Sl anwgs Joe ()
ssly Wl dnugs Jaa (F S0 Py Arsgi ke (¥
el plas’ (ol drwgl )0 Cu pue 5lwssTily slp by gl ij yenzr ol 51 ATV
138 Gei> (33,5 (p89, (¥ 128 5l 5,55k ()
29,5 il Lululy Gilie glaog 8 LSCts (F Slns glaog 5 4 ol IS Jlazs! (v
bygiye i S il g eloinl o sy SSLSS jloolinul b s g (0 35 5 @ )b 5l 00 e &5 Lk > -1TA
! )00 plas &
00l o (F 1S g2 (F Slanwgs (¥ &l O
V- PP [P PET e I\ [P ROVS SR [ P -0 R — 9 9k pld g uclyd 51 )le Gui —1YA
golasl (¥ e (T =l (F 9> ()
29500 Jlodas (luwdd Wi b o Jolae 350 pIAS fpae ) jow S0 (g Olowands jo -1F-
oo ddkaie (F 3,5 aakaie (Y deglaie (Y 038> ()

sl (1)) (ol GBS 3 S T g <32 9590 plas —1FY
S5 1 9 Ty e ()
plee SSle @ (e SoSle Lo (V
Sblans o SIS anmg) g8 (F
waxly nl (6 UK Blgl po Sdgo 2ty SdlBo (F
Yol pleol (g5)3lis Oyl b (Jlw 4z 50 3 90 plas Gub (Saijle slea O)lj9 -IFY
VYA o 58S hinaigs piges dalig ()
0 PR ST I |
YYAD - j9iS dnwes pylaa> asly (T
VYA - (55)sas )ljs OSas ol osas )3 (5 00! Jlesl)ss agae (F
Sy 1 550glaT A piew bawgio jsbay alLAS and F 0 ATAF Jlo ;0 (5550 SO )15 elelp IFY
ol oy o o W o AU
Yo(f YY (F VY (Y Qo



WY axio 109F (5 55) 559l bigel 9 o9y (330!

$Cd )8 51,8 oolaul 0 y00 WM jI L3 Jlses aolip plas 1o ol pl 30 0l Cdad @ a0

p g 2l (F ez g po (7 el 9 Jgl (Y pss 3 Js! ()
il b g L guax ;0 sl asll ¢ 3> 0500 plus

6)l,naul)o(f Lisg) Coalga (Y Ly, g (V gy conex ()
ol 0)lg (plwy) oyl jos 0392 10 OMA 1 o dxwgl pgo aolip p wadi plus

‘5_:_12..:,) u‘,o.c 6.)[.425! ,_glbd.ola)o u—dL-«-v ._5,-:'-'—\-&—‘" (\

Srptebp anls 50 L) 5 b e SSU | ddal, (F

13,55 1 ooy )S 4 axgi pas 5 8 5 Lod 3 (slaog, S (gaieo i (7

lig; ;0 26, g Jleas slacJlad 5 sade slactlad Coglgl (F

b (wei g ke (¥ Wi o Sioas (e (5 lsasle s ()

Cudlad &5 Sl wld 35,0 a5 Canl cpl g Sliicl g 09l 0 48,5 00050 Jold o)laad wlfuud plus 40
| XCOVCRIoNn [FrOwW | Ay (559l A s puk O jguods l@i Cainro Lol 3510 55 59LiS yus

g g0 GBI 3590 AT & 19 Sy U Sl g S 3 Sy ol polis (g5
IS5, (F g s OV wlasT (¥ gl ()

(] 53030 (559l ot (510 (13m0 i (512 (i Jlare (3590 plas

Jg 400l b (65,8 adgs ol (F Jeazme adyi ;o 438, )54 (595 (l5ee ()
65 DY pame & il olazs! 5 Sllo (F (b0 E¥pane 4 aiily olazs! 31 ol (F
Sl 7 yhe (ghalgion! U wlio 4y (g)laal jluly (55)3Las drwg 4 0,505, plas )0

ab!, S 55,0 (F QLT LSS (Y abl S (Y LS Las ()

€3 75 o9 )13 00laiusl 3590 (1193 (55,9l Anogi ) glireds ZM! plas

el.'.a sasaseblas (F w‘i)’-‘)l" (Y u.!)g.:b 41 03,28 ()
gy ooty BT yb pl0S €52 (o by il slog b

ke 28 slag )b (F Oeaj e el slag,le (1

llozsy anvg slog b (F sl oS slag o (7

)y oo jladiay 00 Sy [yl ¢ 32 10590 plas

C.J,a sanlai (F Sbs sazyles (Y &)'). sasslai (Y las-as ()

i s )0 Liwg ) 03900 8,150 8 590 plas

Sgd aand LU SVl slaz b 4y 4> 45 L Ly 00g0a ()

ol 1 (G By g g 9290 Sl Jalls L 03g0ma (¥

Dgd e gl Gl it (5 a0l p el Jawgs Livg; 035000 (F

g ialys laoage 1y o3gama 515 53 atl g0 Slst py Ok g J S Syt lags ot (F

-\F¥

-\Fd

-\¥7

~\FY

-\FA

-1¥4

YW

)

-\ay

-\ay

-\oF

-180



VA axso 109F (\W.F u5) 6)')’“ U:a),oi ’C"’)’ Q,o)i




1 aino 109F (V5 35) (55)0La biel 3 9y (9e)!




Y+ i

109F

(Y5 a5) (65,9laS Jbiael 9 zugy (y30)




